Multiplication de Deux Binomes (1)

Simplifiez chaque expression.

L (To+7)(2v—T7)

[\

- (25% — 5%)(8s® — 5s?)

3. (6 — 3)(—4q — 6)

N

- (3y® — 4y)(2y° + 4yY)

Ut

(—¢* = 6q)(—=3¢" + 9¢")

. (—8¢% — 7q)(—7¢" + 8¢")

o)
©

7. (=9a® — 8a*)(6a* — 8a®)

oo

- (—5b° — 5b%)(3b% 4 Tb)

(6w® + 3w?)(6w? 4 Tw)

Ne)

10. (313 + h?)(—2h° — 4h?)
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Multiplication de Deux Binomes (I) Réponses

Simplifiez chaque expression.

L (To+T7)(20=7)
— 140% — 350 — 49

2. (25 —i52)(8$3 — 5s?)
= 1655 — 18s° + Hs*

3. (6g — 3)(—4q — 6)
= —24¢° — 24q + 18

4. (3y2 — 4y)(2y5 + 43/4)
= 6y" + 4y° — 16y°

ot

(=4 — 69)(—3¢° + 9¢")
= 3¢" +9¢° — 54¢°

6. (—8¢* — 7q)(j7q5 +r8q4)
— 56¢" — 15¢° — 56¢°

(—9a® — 8a2)(6q4 — 8a”)
= —54a’ + 244° + 64a°

=~

8. (=5b% — 5b%)(3b* + 7b)
— —150° — 500" — 350°

0. (6w* + 3w?)(6w* + Tw)
= 36w’ + 60w* + 21w

10. (303 + h?)(—2h° — 4h?)
= —6h° — 14h° — 4h?
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